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Seciion A (23 % 2 marks) :
For quastions 1 to 25, chooss the most suitable enswer and shade its number (1, 2. X or Y an vl s
Optical Answer Sheet (OAS) provmed.- :
1. Which of the following animais have sirmilar life cyoias as that of a cozkzoach?
A beetle
B:  mosquito
C:  deagonfly
D: grasshopper
() Aand Bonly
(2) BandConly
(3) Cand D only
(4) A, Cand D only
2, What is the correct crder of the development of a halsam seed 7o- a disam ﬂb“‘ 7
(1) seed ~—— ghool w~—a oot = flowver ——+ {tnit
7). seed —— flower ———® {ruit~~—¥ oot -~ ghoot
(3)" seed =% poot —+- shoot ——% {uit ——s fiower
(4) seed ——3 root > shoot =—=» {lower =—p fuit . - )
£ Which set of planis reprodu. =s by sceds?
(1Y hibizcus an \(L:’i.;.\,
() tomato and ravibutan
(3) lady’s ﬁngar"“d tapiota :
(4 orion and moming glory ( %
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¢ cake had turned very moud§

A smeil
B touch
C; taste

D oqignt

Y BRoaly
AN nd" oniy
(Y Aand Danly
@) B Cand D el

n

AL ,."
N

Abmad wants to compare four different sets of terns. Tr which set will he not ke abla to
COMpare Ushg h:; senge of sight?
(N - . T TZm5 - 5ibho
(L fq? (2} L= TIDHON
\:_-%___;1:.»
_%_ f
tap waler  warny water
{/“-;;:x.
N ey 7
2 R (4) —
- 1 {
) L.,u. L N } ( 5\
white cubs  grev cube appis ‘
&, Which of the follewing statonrents are true about the human digestive gystam ¥
A Food s pot digested in the pullet.
B:  There is no digastive julce in the mouth.
C: Toodis digested (Ompt otely in the siomach.
D1 The farge mfesting is shorter than the small intestine,
Eo Tnsidethe large intestine, most of the water from the undigested
food s absarbed by the body.
(1} Aand Buonly
2y CandBEondy
3Y A Dand ¥ oonly
{4y B.Cand Donly ({ i
7. Yihao is foiding a pap roplane. Hehastousebis joints
(1 fmger andweisg
() welst apd ¢lbow
3y Dngee and eibow .
(1 sheulder and wrst { K
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Al liver
RB:  heast
C: o lungs -
D: 1énevs
E:  stomach

ST () AandBonly
(2) BardCenly
3)Y A, CandDonly
(4). B, Cand Eonly

o. The diagram shows pait of a Jeaf seen undey a mioi oseope. Wiich

stomata are correct?

A

B:
-Lc.
D

(1)
(2)

(3.

()

They take in only carbon dioxide,
They absorb sunlight for the leat to make tood.
They are mosty found ou the understde o the leafl

They allow excess water vapour 1o escapa through theri

A and B only
Aand D asly
B and C only
Cand © enly

10, Yhich of the folldowing does pot cause water potation?

(0
™
()

()

Littering of beaches,
Oil apills from shi
Dripping oi wate

Dumping of waste products into waier.
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Which organs are protécted by the part of the skeleron shiown balow?

atemente about thi
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- L The pictpor shows a pisce of paper at aﬁed TOﬂ'}E‘,C"‘OI 0% are)amcmor}w} 2 Ma

The paper does not drap hecause the .
1} paper iz a macnetis miaterial
2)  paperismaghenzed by the magnet

tuadd to the ooy of the reftigerator

{: > red i¢ made of & magnetic material :
1
2. Which otwhe fallowing are not ag ppropri iate ways to conserve water?

A+ Drinkfess water, s \

By Turn off the taps fullv,

T Haveasnowsy instead of a bath,

D Meke proper uze of half and full toilet flushes.

E: Water m planis with water thaf has been u«ed forwashing clothes

FooAend B oonle
) sf\ and I only
_2} n”d l‘c O} },_ \/ 4 )
) C,._, Dand Eaonly - - ~ )

13, Suubes ofice ace sdded 0 a glass of water. After soms time, the water in the glass will
change 1 '

PPNV

@ >

3

)
A
PR
PR
5 F
ot
e

-
E
=3

law}
&
!
5
0]

—~
ol

C and 1 prh .
) A, Cand D only { )

N
]
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14 A wettowel is left to-dry in the sun. Whicli ofthe folloving graphs shows correctly the
changs i1 the mass of the towel?

Mass o Mass
o1 , /\‘//‘ Co- ' of o
towel |~ towel | T~
~ L__, —n
Frime : Time
Mass Mass }
Of o . . of ;
towel “w ' tosvel :
( ,
e ‘f [N . }*—
Tirie Trme
{ )
15, Which of the following activitics wili cesultin the lowest buat’r.mv rale?
(1)  Drawmng a picture.
{2) Runninga (W0-tmetre 1nce.
(3) Takingaroller co(. ster ride. » \
{4) Watching a very frightening wovie. ' ( b

16. Tha table shows kow some Jiving things breaine, Which ts wrong?

_ liviagthings | lungs |
(M __whaje , '
@ [ monkey P Y
3) - penguin 1V
) earthworm

v Ay

17.  Plants need water, e
(1) cxygen and sunlight
(2)  nitrogen and sualight
(3Y  carbon dioxide and warmtk ;
(1) carbon dioxide znd sunhight

P
N
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\:o

S«/iP47C

P

T all. 3acs

1R :
3 {» i~ diaphragm

":\h'f»\ TRL‘IP S:’;‘\GV’VS v\”h L
we breathe in, Wiich i ¢ omzc;-?

e —— e e s

1z 10 the movement of our dianhra

agm, rihs and chest when

mevement of vibs | movement of diaphvagm | chest

R - ¥ - —

‘}\  upwards : contracts

| downwards i _expands

= upwards | contratts |

downwards ' expands | (
Wich of the follawing are the functions ofthe blood?
A Tt keeps the hest }ux“, 0.
B: It excretcs »\(sf rnatedals from the body.
C: Jtearmmiss uatrien } vaste matter in the bady.
D: It carries oxygen 2 c’ cerbon dioside in the body
(M Aand B anly
2) Band Conly
3y CandDaonly e
@ B, CandiDonly {
Study the food chain halow
grass -—— gragsigpper ———# bird -~—+ snake .
Eack arrow represents “is eaten by ™,
Whnch statement about the frod chain is false?
(17 The grzc: wrper vees the energy from the grass tvmake fooil.
2Y  Ensrgy ! z*‘;s gerss is passed on to all the a i It a.".:;.
(31 The bire gets s anc.";.'v from the grasshoppet.
) \

(B W ithout o grass, 2! the animals will die. : )
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21, Which of the following shows the corvest flow of blood in man?

(H /7y lungs

s

S oparts
of body

=

22, Allliving cdl» mm out respiration. Which of the follewing coears during respirelion?
- . — ._.-__-_]
food oxygen |
{1 is formed isreleased
! is formed is taken up

vy -_1 -
(3) [ _is br‘»}\m down is released
(4) | isbrokendown | s takeri up

i o

23. Ravi made some statements wbott the Sua, Which of the statonents are true?

A: The Sun gives us warmith

B:. - There will be no wiier cycla without the Sun.
-C: Too much sualight is harrafol to our skin enlv.

D:  Animals can make food wsing Hgnt fron the S

(L Aand Bonly
(?y  Aeand Conly
(3Y  Cand D oniy

) B Cand Donly

N
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24 Which of the fuliowing has the biggest volume?

N I\ CoaN e
{13 LU g 01 Iee
Y /AN PRSI
O SO g 06sand

(3Y 200 g of olasticine
(4 g af coton woe!

N
L
N

The diagram shows the fransfer ofenergy from the Sur 1o the anreals.

Sun e B s » chitken —— Q —* R

Which o ths {otlewing §

dentifies P, © and R corcestly?

2

(5

A
(2

man

snake

(2)

ST

goat

AN ;7 Qe 'i
@ [ seawes

fish

kinaztisher

For questions 26 to 30, please vefer to Booklet K.
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: TR

| Qns. 26— 30 N T

i Trial mncks Y E

_: |00

| IR e Z.'A .—]

Sec hon n B (30 marI\s)

s

For questions 31 te 42, write the answers i1 the gpaces prindted,

31, Srti descrived a fruit.
tya

1t 1s green and round. Tt is Very sow

(a)  Which two senses did Sitt use to deswibe tie fruit? {Im)

()  Which is our fargest sense organ? ' (i)
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32, The picture shows our dipestive system. . X

Eabel only the parts where digestion of food takes place. Cm)

SOV U |

Lo
53

Maieh the plant parts with their functions, (3m)

(=) leaves

w3
-

prateet the sands

{ty wveins -8 . & - transport food made by fhe leaves
ta the stem

(=t stomats 9 & carry oul photosyathesis

i
Ca
T

roots @ e suppétt he branthes and leaves
(e} g e & allowairio enter and teave the leaves

~

(0 stems o @ hoid the plent Grmiv o the
greund
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34, The strength o' 4 imagnets are tested avid the eesults shown 1 the tablz

RO

P Magueis i Number of pins attiacted |

OO OO0

oo

( % |Poeoo
,' %

0608

)

e e e e

| - ; o~ -
PO OO0 0 5

i
|

Based on the results, fill in the blanks below.
(@) | Magnet is t’ﬂelstrcnges::.
&y Magnet s the weakes..
(¢)  Magnets _and o (hﬁ'\r:e. the same strer: gth.

(d)  From this experiment, we can vonclude that the strength of a magnet docs ot -

depend onits ur .

A o e ok e e e
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()

Che praph shows some ise cubes baing heated. ™

Temperatore (")

{
Y C D
180 f e
S
J ~
4/‘
| B/
A o
N ,_wl,,d"wv ' ; " I o L -
) | i 4 ! T
3 5 10 15 =0 23

Tims inken {mir

Which point of ths grapht dhows that all the jee cubes have m“lwd som pletely?

\

W ohich pact of fhe praph shows that the water is gaining heat very ¢

auinkdy'? 1m)

“Tor how lonp doss ths waier { 12

Fill in the Blarks with the sorcact words,

When we bresthe i air passes down the

smafler tubes feading o the _ Thaso tubes brane

structiies, oxvgen hassas through their walls and is cattled to the s

y

et A Vs et i AR e

Se/ PATCAZ 2004 Fage 52 ol 1%

(2m)

wyhich hrarches o twso

th »arﬂﬂ thio tiny tubes

that end in bailoon Hie structures called —_» When air reaches Uiese

rest of fhe hody by the




37, Write “T* if the sta:sment i Tlle and ‘F° i the statement 35 {2ise tn the boxes mrovided,
- [")[\_"5‘\:
e

{(2) There 1s no aiz in soil i

1
() Carbon dioxide makes up one percent of the 2ir : :

. ’ i
(<) Bacteria in the soil use nitrogen in the aiv around thent. |
[N

.
"

(@) There are more than three gases i the ain

38.  The 6 2IToWs in the dizgram show the exchangs of geses by i
surroundings. :
s
; : Legend §
ORYITEDR . ' =S fak . ;
~ S i {oe—p S TARKED Y |
-~ ~_F ; i
\\ ; —a e FIVES O )
- A
* i R
T
| ammals
L
N ,"“ }“
b % xw‘ il
carbon dioxids
(8)  Name the arrows which sbhow a process that takes nlace all the wme, - (1)

{t) Name this provess. R N - ' ' - ()

(¢} ame the process reyresenied oy D ani A, , {Tm)

(d) Name two condilions not shown in the olagm Al Bre vaessiany [y

the process in {c) to take place. {fend)

Sc/ P4/ A2/ 2004/ Fage 13 0 16




a8 Inthe classification tabix haow, give a suitable sub-hzading in each of the boxes. {2y

A

U -
Tomnis
NN ._,_.‘_.,..._~
i
.
e s o T 3.

- joints in the @‘(ur , (

1 i S N e A

o
Lo
. e . et . , _
t
z 1
e.g. kneejoints e.z. ¢houlder joirits
2

40, The diagram shonws a2 cross-secton of a stem,

(a)  Label the tobes in tis diagram above. (1rv)

)  Water and mine 1a’ salts are ransported by the - tebes, Yom) .

B SR,

() Food mads by ihe Jeaves is wransporied by the - : ' tbes. L (Vo)



41.

@

(o)

(d)

The diagram shows a part of the cireulatory system,

to the heart

E

Name the blond vessels B and F. . RO

E: . N

’

o ANyt o 51
pin . _ o and waste materal,

—

)
1
o
=
]
jo)
Cu
=]
(e]

¥
T eargies

Fcatries blood richiin

Vhy {5 blood pumped faster to the other paxts of the bady when we exercise? ()
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42, Amexpeiemant was condicted to find out which brand of natt“"' ies was the best.

A torch was useld to test the Gife span of the batteries and the results are shown in the table
below.

e e “—

Braud of batver] lxte span of hatted xes in hovu s |

z A 12 B

- B . [ } AL}
C , i5 : 1
:, " - SR N . " N —

L Do - 14 3

(&) Which brand of batcenes waz the best? : {1ro
4 \.

{b) What mug. pot be chnged 1o enswre 2 fair test? (1)

R e P UV

For questions 43 to 4, pleass refer to Bookiet I
End of Paper

Szi by M- Tee LS
vedied by: 00 Scignce Comorines Sauchers
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FEI CHUN PUBLIC SCHOOL e
CONTINUAL ASSESSMENT 2 - 200 Y A
SCIENCE

PRIMARY 4

1) 3 28) 2 A1) &) The seunse of sigh:t and taste
2) 4 2a0) 3 b) Qur skin
3) 2 3¢) 1 S 32)

4Y 3

6) 3

7)1 " 33) a) ceryy out proresynthesis

8) 2 ) by transport food made by the
- to the Sstenm.

Yo
(g
I

£) allow air to enrer and leave the leaveg
10) 3 d) held the plant firwmisy to the grouad.

e) protect the seeds.
11) & e) protect the sewds

, f) support the nranches and ieaves.
12) 2
34) 2) O by L ¢) K snd M
21 -
13) 3 d) egize and sharne

-
s
[sv}
3
o
S
o
s

14) 2 35) a) A
3

15) 1 6} windpine
lungs
16) 1 air sacs
17) 4 'b.‘.ood
37y a) T B8) F ¢} T ay |
18) 2 . A . . .
38) a) BC and EF ) vespirastion ¢} phobosyvsthesis

19) 3 | d) sunlight and water
20) 1 39) iumovable joiuwts ' rovable joints
91) 4 ) Winge joaants pall and =ocket joiuntn

5 ) 1 13 1k
27y 4 40; 1) phloem 1 v

b) xvlem ) phioemn

1) @) B otoovein Y T 1 oariavy

24) 4 b) carbon diovide ©) oxygen

25) 2 d) To supply more food and avevpgen Lo produce wove
energy .

26) 3 42) a) C

27) 2 b) Do not change the tor:h

P




